Government of Jammu and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER,

DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q BOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Emall:sehydbla@gmall.com

M/S:- Ajaz & Co. Prop:- Ajaz Ahmad Khan S/o:-Sarfaraz Khan R/o:- Uroosa Uri Baramulla GST No:- 01 ARDPK3454C2ZG

Advertised Amount: ₹170.68 lac Allotted Amount:- ₹1,75,57,763.00 Major Head:-4215-JJM Time of completion: 120days

Regd No: CE/I&FC/Sgr/80(Eighty)/AAY (Civil & Sanitary)/2017-18

### {ORDER No: 03 /SE/HYD/SPR/JJM of 2022-23}

Dated: - 64 - 11 -2022

Subject: Fixation of Contract for:

Retrofitting of Water Supply Scheme Dardkote by way of Construction/Commissioning and testing of Intake Chambers/PSTs/ SRs/SSFPs/ Protection works, Chain Link Fencing, providing and laying of GI Pipes and other allied works (for providing 100% FHTC). (Tender ID 2022\_IFC\_167384\_16)

#### Reference:

- 1. Executive Engineer Hydraulic Division Uri's e-NIT No 04 of 2022-23 issued under endorsement No. HDU/CC-02/272-83 Dated 20-04-2022. 2.
- Revised District Action Plan of District Baramulla approved by DJJM vide no: DDCB/3929 dated: 30-07-2022.
- Minutes of Meeting held with District Development Commissioner Baramulla (Chairperson DDJM) on 23/5/2022 minutes issued vide letter No DDCB/Meeting/2022/1214-44 Dated: 24/5/2022 and No DDCB/2022/ 1248-70 Dated: 26/5/2022 thereafter vide letter No. DDCB/ 2022/1725-28 Dated 04/06/2022.
- 4. Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/240 of 08-2022 Dated: - 31-08-2022.
- Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No:- CE/PHE/DB/195 of 08/2022 Dated: 31-08-2022.
- 6. Minutes of Meeting of District Contract Committee circulated vide No: SE/Hyd/JJM/3583-3606 dated:30-06-
- 7. Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated:- 21-06-2022.
- 8. Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83 Dated: - 26-07-2022.
- 9. Your letter of acceptance Dated: 18-07-2022.

#### Dear Sir,

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment order. The total cost of work shall be ₹1, 75, 57,763.00 (Rupees One Crore Seventy Five Lac Fifty Seven Thousand Seven Hundred & Sixty Three Only).

No:- SE/HYD/JJM/9833-48 Dated:- 04 / 11/2022

#### Copy to the:-

- 1. Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information.
- 2. District Development Commissioner Baramulla (Chairperson DJJM) for favour of information.
- 3. Additional District Development Commissioner Baramulla (Member DJJM) for information.
- 4. Assistant Commissioner Development Baramulla (Member DJJM) for information.
- 5. Divisional Forest officer Baramulla (Member DJJM) for information.
- 6. Chief Planning Officer Baramulla (Member DJJM) for information.
- 7. Chief Medical Officer Baramulla (Member DJJM) for information.
- 8. Chief Educational Officer Baramulla (Member DJJM) for information.
- 9. District Social Welfare Officer Baramulla/District Tribal Welfare Officer Baramulla (Member DJJM) for information.
- 10. District Information officer Baramulla (Member DJJM) for information.
- 11. Executive Engineer Hydraulic Division Uri (Member DJJM) for information and necessary action.
- 12. Executive Engineer Jal Shakti PHE Mech. Division North Sopore (Member DJJM) for information.
  - Executive Engineer Ground Water Division Srinagar (Member DJJM) for information. COS Limited Baramulla, for information and necessary action.



Hydraulic Circle Bla/B

g of Water Supply Scheme Dardkote by way of Construction/Commissioning and testing of Intake /PSTs/ SRs/SSFPs/ Protection works, Chain Link Fencing, providing and laying of GI Pipes and other allied works (for providing 100% FHTC)

Annexure "A" with Order No: -2022 SE/HYD/JJM of 2022-23 Dated :-Alloted Amount Item Description Quantity Rate Units E/W in excavation by manual means in trenches for foundations, drains, pipes, cables etc (Not exceeding 1.5 mtr in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, 2731830.899 453 440 6024.680 depth upto 1.5 mtr including disposal of excavated earth within Cum 1km from cutting edge, disposed earth to be leveled and neatly dressed :In all kinds of soils Filling available excavated earth excluding rock in trenches, plinth, sides of foundation etc in layers not exceeding 20 cm in depth 917610.112 4440.450 206,648 consolidating each deposited layer by ramming and watering lead up to 50m and lift up to 1.5m. Providing and laying stone soling 2nd class in horizontal on level 21922.705 225.056 97.410 Cum including cost of stones. Providing and laying in position cement concrete in specified grade including cuirring but excluding the cost of centering and 296552.488 5056.308 shuttering. All work up to plinth level. 1: 4:8 (1 cement: 4 coarse 58.650 Cum sand: 8 graded stone aggregate 40-mm nominal size) crushed. Providing and laying in position cement concrete of specified grade including cuirring but excluding the cost of centring, and 637416.505 6723.803 94.800 Cum shuttering(all work upto plinth level). 1:2:4 (1 cement: 2 coarse sand: 4 graded Stone aggregate 20 mm nominal size) Providing and laying in position specified grade of reinforced cement concrete including cuirring but excluding cost centering 812252.575 shuttering finishing and reinforcement ( all work upto plinth level 8112.790 100.120 Cum l: 1.5 : 3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20mm nominal size) crushed Reinforced Cement concrete work in wall ( any Thickness) including attached plaster, buttresses, plinth and string courses, fillets, columns, pillars piers, abutments, posts and struts etc. upto 925609.954 94.600 9784.460 Cum floor five level excluding cost of centering shuttering, finishing an reinforcement 1:1.5:3 (1cement: 1.5 coarse sand: 3 graded stone aggregate 20mm nominal size. Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 150 landings, balconies, staircases and spiral staircases upto floor five level excluding the cost of 10243.319 126709.854 12.370 Cum centering, shuttering, finishing and reinforcement with 1:1.5:3( 1Cement: 1.5coarse sand: 3graded stone aggregate 20mm nominal Providing and fixing upto floor five level precast cement concrete string or lacing, courses copings bed plates anchor blocks plain window sills, shelves, louvers, steps stair cases etc including hoisting and setting fr psition with cement mortar 1:3 (1 cement: 3 90.262 9026.160 0.010 coarse sand) cost of required centring shuttering and curing complete l: 1.5 : 3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20-mm nominal size) Providing hoisting and fixing upto floor five level pre cast reinforced cement concrete work in string courses, bends, coopings, bedplates, anchor block, plain window sills, and the like 9.398 including setting in position in cement mortar 1:5:3 including cost 9397.846 0.001 of centering shuttering and curring but excluding cost of 10 reinforcement 1:1.5:3 1Cement: 1.5coarse sand: 3graded stone aggregate 20mm nominal size) Reinforced cement concrete work in arches, archribs, domes, vaults shells, folded plate and roofs having slope more than 15° upto floor five level level including curing but excluding the cost of centering, 89671.104 10820.696 8.287 shuttering finishing and reinforcement with:1:1½:3 (1 cement : 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size) Centering and shuttering including strutting propping etc. and 56623.435 272.792 207.570 Sqm removal of Form work for: Foundations, footings, bases of columns 12 Retaining walls, return walls, walls (any thickness) including 1041679.606 596.804 1745.430 attached pilasters, buttresses, plinth and string courses fillets etc. Sam

Itting of Water Supply Scheme Dardkote by way of Construction/Commissioning and testing of Intake bers/PSTs/ SRs/SSFPs/ Protection works, Chain Link Fencing, providing and laying of GI Pipes and other allied works (for providing 100% FHTC)

	Annexure "A" with Order No: SE/HYD/JJM of		The second secon		-2022
Ho	Item Description	Units	Quantity	Alloted Rate	Amount
12.2	Suspended floors, roofs, landings, balconies and access platform.	Sqm	97.860	661.024	64687.809
12.3	Arches, Domes, walls upto 6.0mtr span	whydro if a big	94.200	2170.272	204439.622
12.4	Columns, Pilers, abutment, posts and struts.	Sqm Sqm	12.600	707.356	8912.686
13	12mm cement plaster of mix 1:4 (1-cement: 4-sand)	Sqm	1567.230	297.497	466246.537
14	Providing and mixing water proofing materials in cement concrete in doses by weight of cement as per manufacturer specification including all sorts of carriages upto site of work complete	Kg	2595.000	63.960	165976.200
15	Providing and fixing of two M.S surface box for sluice/gate valve one for inlet and one for outlet including embedding of vertical members of iron embedded into concrete blocks with Angle Iron frames 50X50X6mm, Angle Iron Lid Frame 40X40X5mm with M S Sheet of 4mm thick for lid on sides and including locking arrangements handles/hinges Complete Job.	Кg	1090.000	82.420	89837.800
16	Structural steel work welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.		8672.310	106.335	922168.349
17	Reinforcement for RCC works including straightening cutting bending placing in position and binding all complete TMT Bars.	Kg	28357.950	90.662	2570988.463
18	Providing/fabricating and commissioning of MS Lid for Filtration Plant /Service Reservoir of approved design as per the instructions of Engineer Incharge at site.	Kg	1811.000	90.662	164188.882
19	Cement concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete.50 mm thick with 20mm nominal size stone	Sqm	178.260	528.356	94184.812
20	aggregate. Crushed  Providing and Fixing of Hand Rails of approved size by welding extra to steel ladder balcony railing stair case railling and similar works and applying primer coat		57.150	199.342	11392.395
21	Providing and fixing of Sluice Valve (ISI Marked) of approved quality (BIS) including cost of all accessories required and all sorts of carriages of material upto site of work)	Nos	2.000	9360.000	18720.000
\$ 13.	65mm dia	Nos	22.000	9360.000 9360.000	205920.000 74880.000
21.1	50mm dia	Nos	8.000	9360.000	1 1 4 7 7 7 7 7 7
21.2	40mm dia  Providing and fixing GI Bend in dome slab with one and provided with wire guage mesh. The bends are to be fixed in dome slab during concreting for aeration purpose:	Nos	30.000	520.000	15600.000
	50mm dia	Nos	6.000	520.000	3120.000
22.1	40mm dia	1	45.000	208.000	9360.000
23	Providing and fixing of PVC for interesting and outlet of 40mm/50mm dia of required length  Providing/Shrouding and laying of filter media of required grad from Ganderbal, Sind Nallah source inclusive of all sorts of the structure of the struct	e	70.08	7280.000	510182.400
24	from Ganderbal, Shid Helical Carriages upto site of work complete job.  Providing and fixing of 12mm thick MS Flanges to GI pipe including cutting of threads welding of flanges to pipe end including laying and fitting testing and commissioning including laying and fitting testing	s s	72.000	728.000	52416.000
yr.	of work complete job		000.000	624.000	199680.000
	65mm dia	Joints	320.000 480.000	520.000	249600.000
25.1	50mm dia	Joints		75.972	60777.600
: :25.2	I aving and fitting of d. s.	Mtr	800.000	2 1 X 1	254592.000
-26	and refilling etc: 65 mm dia GI pipes	Mtr	6000.000	42.432	358550.400
26.1	50 mm dia Gl pipes	Mtr	8450.000	42.432	226319.600
26	at all lines	Mtr	7100.000	31.876	1/1

fitting of Water Supply Scheme Dardkote by way of Construction/Commissioning and testing of Intake abers/PSTs/ SRs/SSFPs/ Protection works, Chain Link Fencing, providing and laying of GI Pipes and other allied works (for providing 100% FHTC)

14.8	Annexure "A" with Order No: SE/HYD/JJM o	of 2022-23 Dated :			-2022
No	Item Description	Units	Quantity	Alloted Rate	Amount
26.4	20 mm dia GI pipes	Mtr	4900,000	21.060	103194.000
26.5	p	Mtr	3800,000	21,060	80028,000
27	Providing and Fixing of GI chain link fabric fencing of required width in mesh size 50X50mm including strengthening with 4mm wire/nuts/bolts and washers as required as per instruction of Engineer Incharge at site.	Sqm	624,000	762.840	476012.160
28	Providing and fixing of bolts of 16mm Dia 25cm Long fully threaded to be embeded in cement concrete with bolts including all sorts of carriages Complete Job	No	56,000	208,000	11648.000
29	Providing and fixing of MS Plates for anchoring of pipe over sadlle/anchor blocks with nuts and bolts already fitted in concrete 4mm thick 200 wide and average length 50cms MS Plate complete job in alll respect	Kg	87.920	116,480	10240,922
30	Providing and making of Gabion structure with Mechancially Woven Double Twisted Hexagonal Shaped Wire Mesh Gabion Boxes as per SI 16014:2012, MORTH Clause 2500, of required size, Mesh Type. 10X12 (D=100mm wit tolerance of 2%) Zinc +10% Alloy+PVC coated (Plymer Coated Mesh wire diameter 2.7/3.7mm (ID/OD) mechancially edged/selvedged with partitions at every 1m interval and shall have minimum 10-Nos of openinings per meter of mesh perpendicular to twist, tying with diameter lecing wire of 2.2/3.2mm (ID/OD) supplied @ 3% by weight of Gabion Boxes, filled with boulders of leastdimension of 200mm, as per drawing and direction of engineer incharge at site including all sorts of carriages upto site of work.	Cum	146,630	3458.052	507054.165
31	Carraige of materials by Mechanical Transport including loading, unloading & stacking: Cement and Steel	мт	315.238	600.392	189266.373
31.1	Sand.	Cum	219,130	904.056	198105.879
31.2	Agg, 20mm	Cum	315.830	1166,100	368289,363
31.3	Agg, 40mm	Cum	52,305	1162.392	60798.934
31.4	Stone Soling	Cum	24.200	287.375	6954.472
32	Carraige of materials by Manual Labour from road site to actual site of work including loading ,unloading and stacking:	MT	166.576	478.878	79769.648
	Cement	MT	138.268	908.960	125680.081
32.1	Steel	Cum	213.082	1121.346	238938.580
32.2	Sand.	Cum	304.608	880.256	268133.020
32.3	Agg. 20mm	Cum	52.315	1212.218	63417.172
	Agg. 40mm	Cum	97,410	1124.240	109512.218
32.5	Stone Soling	,			1,75,57,7

(One Crore Seventy Five Lac Fiffty Seven Thousand Seven Hundred and Sixty Three Only)

**Head Draftsman** 

Berre. (Ch ......

I'S No

Technical Officer

Superintending Engineer ydraulio Circle Baramulla/Bankipora

**H.Q Sopore** 

## Government of Jammu and Kashmir

# OFFICE OF THE SUPERINTENDING ENGINEER,

#### JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

Annexure "B" with ORDER No: /SE/HYD/SPR/JJM of 2022-23 Dated:-

### **Terms and Conditions**

- 1. The work is executed strictly as per approved design / drawing, specifications and JJNi Guidelines. Any deviation or change in proposal/location is subject to the prior approval from
- 2. The Executive Engineer will draw the formal agreement with the contractor within 07 Days from the date of issuance of this allotment order.
- 3. The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the
- 4. The execution of work shall be subject to check by the third party monitoring agency (TPIQM)
- 5. The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.
- The Defective Liability Period shall be for a period of 12 Months which shall commence after the successful completion of the Trial Run.
- 8. The total cost of work shall in no case exceed beyond of ₹1,75,57,763.00 (Rupees One Crore Seventy Five Lac Fifty Seven Thousand Seven Hundred & Sixty Three Only).
- 9. In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against
- 10. The time of completion of the work is reckoned 120-Days (One Hundred Twenty Days) as
- 11. The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid
- 12. Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses. work as
- agency/contractor requirements/specifications detailed in the relevant/applicable IS codes.
- 14. The tests for concrete and allied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by Ret
- 15. All Environmental norms, labour laws and all other guidelines issued by competent
  - 16. All other terms & conditions as laid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2019 shall remain in force.

1.4

Technical officer

Superintending Engineer Hydraulic Circle Baramulla/Bandipora H.Q Sopore.